stoka D stoka D3
Sachta X,Y Sachta X,Y
D-1 X=-826324.15 Y =-1084102.83 D3-1 X=-826229.51 Y =-1084113.26
D-2 X =-826339.22 Y =-1084069.22 D3-2 X =-826240.26 Y =-1084091.22
D-3 X=-826354.15 Y =-1084035.95 D3-3 X=-826244.73 Y =-1084072.82
D-4 X=-826360.54 Y =-1083997.41
D-5 X=-826365.01 Y =-1083970.43 stoka E
D-6 X=-826348.65 Y =-1083965.13 Sachta X,Y
D-7 X=-826321.30 Y =-1083956.28 E-1 X=-826384.78 Y =-1084185.55
D-8 X=-826302.50 Y=-1083971.61 E-2 X =-826400.78 Y =-1084165.82
D-9 X=-826294.06 Y =-1083981.35 E-3 X=-826433.38 Y =-1084161.55
D-10 X=-826275.07 Y =-1084018.46 E-4 X =-826456.10 Y =-1084158.32
D-11 X=-826260.36 Y =-1084029.61 E-5 X=-826464.52 Y =-1084151.49
D-12 X =-826250.78 Y =-1084052.14 E-6 X =-826474.09 Y =-1084124.00
E-7 X=-826483.66 Y =-1084096.51
stoka D1
Sachta X,Y stoka F
D1-1 X=-826390.23 Y =-1083951.28 Sachta X,Y
D1-2 X=-826415.45 Y =-1083932.14 F-1 X =-826536.80 Y =-1084325.35
F-2 X=-826584.73 Y =-1084339.57
stoka D2 F-3 X=-826623.27 Y =-1084351.36
Sachta X,Y F-4 X =-826656.67 Y =-1084358.63
D2-1 X=-826299.87 Y =-1083921.51 F-5 X=-826704.91 Y =-1084349.38




